Pear=Pear (\t1_if_eq:NnTF) 7 false.

Pear=Pear (\t1_if_eq:enTF) ? true.

Pear=Pear (\datatool_if_value_eq:NnTF) ? true.
$1.50=%$1.50 (\t1_if_eq:NnTF) ? false.

$1.50=%1.50 (\t1_if_eq:enTF) ? true.

$1.50=%$1.50 (\datatool_if_value_eq:NnTF) 7 true.
$1.50=9%1.5 (\datatool_if_value_eq:NnTF) ? false.
$1.50=1 dollar 50¢ (\t1_if_eq:NNTF) 7 false.
$1.50=1 dollar 50¢ (\datatool_if_value_eq:NNTF) ? true.
10=10 (\t1_if_eq:NnTF) ? false.

10=10 (\t1l_if_eq:enTF) ? true.

10=10 (\datatool_if_value_eq:NnTF) 7 true.
10=10.00 (\datatool_if_value_eq:NnTF) 7 false.
10=10.00 (\t1_if_eq:NNTF) ? false.

10=10.00 (\datatool_if_value_eq:NNTF) 7 true.



